



## WELCOME TO QPAYSHOP

#### WELCOME TO www.qpayshop.com This platform guarantees 100% security and trustworthiness for earning.

Visit Our Website www.qpayshop.com



# 1st time 100% Pay-out **Distribution Company in India Profit share Income - 20%** 15th Level team Income - 69% Global Royalty - 11% **Global Pool Distribution – 100%** Total Payout - 100%

### MAMBERSHIP PACKAGE

- PACKAGE ₹300+18%GST Profit Share Income ₹1000
- **PACKAGE ₹1000+18%GST Profit Share Income -₹4000**
- **PACKAGE ₹3000+18%GST Profit Share Income -₹15000**
- PACKAGE ₹10000+18%GST Profit Share Income -₹65000
- \* 20% of Company Turnover will be Distributed as Profit Share Income within total Active Member
- \* Get Bonus ₹5999 Redeem Cupon You can utilise it on Recharge and Online Shopping

**PROFITE SHARE - EXAMPLE :-**

DAILY COMPANY TURNOVER AMOUNT TOTAL ACTIVE MAMBER

#### **OUR SERVICES**

**Mobile Prepaid** 

**Mobile Post-paid** 

DTH

Landline

Electricity

**Piped Gas** 

Insurance

Water

Broadband

FAS Tag

Loan Repayment

LPG Cylinder

**Hotels Booking** 

**Flights Booking** 

NSDL-e- Pan Card

Money Transfer

**Credit Card Bill Payment** 

**Trains Booking** 



TYPES OF TEAM INCOME

DIRECT REFERRAL INCOME

**15<sup>TH</sup> LEVEL** TEAM **INCOME** 

2.



5. **SINGALE LINE 3 MATRIX GLOBAL** INCOME

6. **GLOBAL** ROYALTY INCOME

7. **RE-PURCHASE** INCOME



#### 3. SELF RECHARGE COMMISSION

4.

RECHARGE COMMISSION LEVEL INCOME



#### REWARD INCOME



# 

| LEVEL     | INCOME | LEVEL      | INCOME |
|-----------|--------|------------|--------|
| LEVEL - 1 | 50%    | LEVEL - 6  | 0.50%  |
| LEVEL - 2 | 7%     | LEVEL – 7  | 0.50%  |
| LEVEL - 3 | 4%     | LEVEL – 8  | 0.50%  |
| LEVEL - 4 | 2%     | LEVEL – 9  | 0.50%  |
| LEVEL - 5 | 1%     | LEVEL – 10 | 0.50%  |

### TEAM LEVEL -----INCOME In Stand

| LEVEL      | INCOME |
|------------|--------|
| LEVEL – 11 | 0.50%  |
| LEVEL – 12 | 0.50%  |
| LEVEL – 13 | 0.50%  |
| LEVEL – 14 | 0.50%  |
| LEVEL – 15 | 0.50%  |
|            |        |

**GET UP TO 2% to 5% INCOME ON SELF RECHARGE FROM ALL OPERATOR** 



.....

#### **SELF RECHARGE** INCOME



| INCOME | LEVEL          | INCOME   |
|--------|----------------|--|
| 10%    | LEVEL - 6      | 1%   |
| 5%     | LEVEL – 7      | 0.50%  |
| 3%     | LEVEL – 8      | 0.50%  |
| 2%     | LEVEL – 9      | 0.50%  |
| 1%     | LEVEL – 10     | 0.50%  |
|        | 5%<br>3%<br>2% | 10% LEVEL - 6   5% LEVEL - 7   3% LEVEL - 8   2% LEVEL - 9 |

| LE | VE | L |  |  |
|----|----|---|--|--|
|    |    |   |  |  |

- LEVEL 11
- **LEVEL 12**
- LEVEL 13
- LEVEL 14
- **LEVEL 15**

- INCOME
  - 0.25%
  - 0.25%
- 0.25%
- 0.25%
- 0.25%

### SINGALE LINE 3 MATRIX GLOBAL INCOME

| BRONZE            |  |        | SILVER       |              |        |        |                         |
|-------------------|--|--------|--------------|--------------|--------|--------|-------------------------|
| LEVEL             | MEMBER   | AMOUNT | TOTAL        | LEVEL        | MEMBER | AMOUNT | TOTAL                   |
| 1ST LEVEL         | 3  | 100    | 300          | 1ST LEVEL    | 3      | 500    | 1500                    |
| 2ND LEVEL         | 9  | 40     | 360          | 2ND LEVEL    | 9      | 200    | 1800                    |
| <b>3RD LEVEL</b>  | 27   | 20     | 540          | 3RD LEVEL    | 27     | 100    | 2700                    |
| 4TH LEVEL         | 81   | 10     | 810          | 4TH LEVEL    | 81     | 50     | 4050                    |
| 5TH LEVEL         | 243  | 10     | 2430         | 5TH LEVEL    | 243    | 50     | 12150                   |
| 6TH LEVEL         | 729  | 10     | 7290         | 6TH LEVEL    | 729    | 50     | 36450                   |
| 7TH LEVEL         | 2187   | 10     | 21870        | 7TH LEVEL    | 2187   | 50     | 109350                  |
| T                 | OTAL INCOME  |        | 33600        | TOTAL INCOME |        |        | 168000                  |
| UPGRADE 10000     |  | 10000  | UPGRADE      |              | 34800  |        |                         |
| PIN WALLET 1600   |  | 1600   | PIN WALLET   |              |        | 3200   |                         |
| TOTAL PROFIT 2200 |  | 22000  | TOTAL PROFIT |              | 130000 |        |                         |
|                   | and the second |        |              |              |        |        | No. of Concession, Name |





### SINGALE LINE 3 MATRIX GLOBAL INCOME

| GOLD                |              |        |              | PLATINUM         |        |         |         |
|---------------------|--------------|--------|--------------|------------------|--------|---------|---------|
| LEVEL               | MEMBER       | AMOUNT | TOTAL        | LEVEL            | MEMBER | AMOUNT  | TOTAL   |
| 1ST LEVEL           | 3            | 2500   | 7500         | <br>1ST LEVEL    | 3      | 12500   | 37500   |
| 2ND LEVEL           | 9            | 1000   | 9000         | 2ND LEVEL        | 9      | 5000    | 45000   |
| <b>3RD LEVEL</b>    | 27           | 500    | 13500        | 3RD LEVEL        | 27     | 2500    | 67500   |
| <b>4TH LEVEL</b>    | 81           | 250    | 20250        | 4TH LEVEL        | 81     | 1250    | 101250  |
| <b>5TH LEVEL</b>    | 243          | 250    | 60750        | 5TH LEVEL        | 243    | 1250    | 303750  |
| 6TH LEVEL           | 729          | 250    | 182250       | 6TH LEVEL        | 729    | 1250    | 911250  |
| 7TH LEVEL           | 2187         | 250    | 546750       | 7TH LEVEL        | 2187   | 1250    | 2733750 |
| TOTAL INCOME 840000 |              | 840000 | TOTAL INCOME |                  |        | 4200000 |         |
|                     | UPGRADE      |        | 133600       | UPGRADE          |        |         | 1187200 |
| PIN WALLET 6400     |              |        | PIN WALLET   |                  | 12800  |         |         |
| ٦                   | TOTAL PROFIT |        | 700000       | TOTAL PROFIT 300 |        |         | 3000000 |







### SINGALE LINE 3 MATRIX GLOBAL INCOME

| CROWN            |                           |       |          |  |  |  |  |  |
|------------------|---------------------------|-------|----------|--|--|--|--|--|
| LEVEL            | LEVEL MEMBER AMOUNT TOTAL |       |          |  |  |  |  |  |
| 1ST LEVEL        | 3                         | 50000 | 150000   |  |  |  |  |  |
| 2ND LEVEL        | 9                         | 20000 | 180000   |  |  |  |  |  |
| <b>3RD LEVEL</b> | 27                        | 10000 | 270000   |  |  |  |  |  |
| 4TH LEVEL        | 81                        | 5000  | 405000   |  |  |  |  |  |
| 5TH LEVEL        | 243                       | 5000  | 1215000  |  |  |  |  |  |
| 6TH LEVEL        | 729                       | 5000  | 3645000  |  |  |  |  |  |
| 7TH LEVEL        | 7TH LEVEL 2187 5000       |       |          |  |  |  |  |  |
| T                | OTAL INCOME               |       | 16800000 |  |  |  |  |  |
| UPGRADE 37744    |                           |       |          |  |  |  |  |  |
| PIN WALLET 25600 |                           |       |          |  |  |  |  |  |
| Т                | OTAL PROFIT               |       | 13000000 |  |  |  |  |  |



| ROYAL CROWN       |                             |        |          |  |  |  |  |  |
|-------------------|-----------------------------|--------|----------|--|--|--|--|--|
| LEVEL             | LEVEL MEMBER AMOUNT TOTAL   |        |          |  |  |  |  |  |
| 1ST LEVEL         | 3                           | 250000 | 750000   |  |  |  |  |  |
| 2ND LEVEL         | 9                           | 100000 | 900000   |  |  |  |  |  |
| <b>3RD LEVEL</b>  | 27                          | 50000  | 1350000  |  |  |  |  |  |
| 4TH LEVEL         | 81                          | 25000  | 2025000  |  |  |  |  |  |
| 5TH LEVEL         | 243                         | 25000  | 6075000  |  |  |  |  |  |
| 6TH LEVEL         | 729                         | 25000  | 18225000 |  |  |  |  |  |
| 7TH LEVEL         | 2187                        | 25000  | 54675000 |  |  |  |  |  |
| Т                 | OTAL INCOME                 |        | 84000000 |  |  |  |  |  |
| UPGRADE 33800000  |                             |        |          |  |  |  |  |  |
| PIN WALLET 200000 |                             |        |          |  |  |  |  |  |
| Т                 | TOTAL PROFIT <b>5000000</b> |        |          |  |  |  |  |  |





### **GLOBAL ROYALTY INCOME**

| LEVEL      | RANK  | RANAK<br>PROMITION     | C.T.O. | NAME OF BONUS           | PAYMENT  |  |
|------------|---|------------------------|--------|-------------------------|----------|--|
| SELF       | LEADER  | 2 ID Active in 20 days | 1%     | Fuel Fund               | ₹ 6000   |  |
| SELF       | STAR  | 4 ID KYC               | 2%     | Fuel Fund               | ₹ 30000  |  |
| SELF       | BRONZE  | 15 ID KYC              | 3%     | Team Development Fund   | ₹ 100000 |  |
| Level-1-15 | SILVER  | 30 STAR                | 4%     | Children Education Fund | MONTHLY  |  |
| Level-1-15 | GOLD  | 30 SILVER              | 5%     | Family Security Fund    | MONTHLY  |  |
| Level-1-15 | PLATINUM  | 30 GOLD                | 6%     | Medical Insurance Fund  | MONTHLY  |  |
| Level-1-15 | DIAMOND   | <b>30 PLATINUM</b>     | 7%     | Travel Fund             | MONTHLY  |  |
| Level-1-15 | ROYAL DIAMOND   | 30 DIAMOND             | 8%     | Car Fund                | MONTHLY  |  |
| Level-1-15 | CROWN   | 30 ROYAL DIAMOND       | 9%     | House Fund              | YEARLY   |  |
| Level-1-15 | <b>ROYAL CROWN</b>  | 30 CROWN               | 11%    | Chairman Bonus          | YEARLY   |  |
| EXAN       | EXAMPLE :- ROYALTY INCOME DAILY COMPANY TURNOVER AMOUNT   TOTAL RANK ACHIVERS |                        |        |                         |          |  |

# TERMS AND CONDITIONS

1 KYC- 1ID allowed.(Bank Withdraw) No Direct Sponsor For Withdrawal One mobile no - unlimited ID Allowed Wallet To Wallet Transfer option available 5% Charge Auto Withdrawal Minimum Amount of ₹100 Global Pool Entry Fees ₹ 200 + GST 20% wallet **Deduction & Automatic Global Pool Entry Activation** (100% Globally Distribution) Holiday & Saturday Sunday Bank withdraw Stop Deduction -10% Service Charge Bank Withdraw



We value your feedback, inquiries, and suggestions, and we are delighted to provide you with various channels to get in touch with us.

# Contact Us

#### +91-97491 03922 **C** www.qpayshop.com

#### qpayshop17@gmail.com



Visit Our Website www.qpayshop.com





# Thank You For Your Attention

Visit Our Website www.qpayshop.com

